PHys (00C, HomeworRK F#4 Solhous

Go) L= by 3

DZ\H%L:V\/f CD@A)%-

7%

+%:qu ¢ @ m=-f
%
)

D*A-pl= v A/« % “47(&77&+/w 5t
/«pj
- YT %o T

S\VERE: S B

e, 2%
(P > LQ &/WgF;i?@J\WJQ at =0
JO: 9 83@0 Y=o

= UxA=0

@v -8

A/ AeDA= *#/u qugZX
-0

PHYS 100C Page 1



P = VAt o 5F

How Admes J«O\/\AJQ Uw&w
5&b\12@ Na&ns V‘W\a?(WO«/)

dD/ \7A \ (B\/ —~ \771‘+sz flg_iv

_ 1 2 \
CC e = @T b c= CB-EL
\/W/\/
SquaﬂQ %gw«m& aj
US> Some of Yoo CQ] T+

FI;@(L oy G ven @Ca ) qtu»»c’x\@\,,

SD Cc/(/\oung Qbsﬂwbu“‘ﬁoﬂ (Nz /uqoa
7&5@5 V@”&&J\\ J\Q/
2l

ZVA_%

[F (e laCQel i

@\‘/\,QA/ V\O\A/\AQ(M §C0v @J\Q\
/‘/\,@uz, Q,)Q\%‘I"E >\% Q\DO@\ %‘Lﬂ({

D2 2= -
p= P V- p D=0
Lo, B (r)4),

PHYS 100C Page 2



(02 Con a/(wou(jg M(/L( \/L\O

Z%: v D A JU st

Cormmot encd nn ol p=O 3
szngﬂo @

PHYS 100C Page 3



